Year 3 maths - Summer 2 Week beginning: 1.6.20

Fractions Lesson 11

Fractions Lesson 12

Fractions Lesson 13

Fractions Lesson 14

Fractions Lesson 15

Theme Finding Equivalent Fractions Finding the Simplest Fractions Comparing Fractions Comparing Fractions Adding Fractions
;32::;! (to Can you identify unit fractions on Can you identify fractions on a Write the correct amount that the Shade in the fraction of the bar Are the division facts for 2, 5 and
N a number line? number line? fraction bar is shaded in and write the fraction 10 true or false?
aid fluency)
MAKING LINKS: Last week we MAKING LINKS: Yesterday we (Lesson 3 resources below) (Lesson 4 resources below) (Lesson 5 resources below)
learnt that some fractions can be continued practising finding MAKING LINKS: Yesterday we MAKING LINKS: Yesterday we MAKING LINKS: Yesterday we
equivalent. Today we are going equivalent fractions. were finding fractions in their were comparing unit fractions. compared fractions with the same
to continue practising this new simplest forms. denominator.
learning. THINK: (support below) THINK: (support below)
Can you help me with this THINK: (support below) THINK: (support below)
problem? With a piece of paper, cutitinto a Can you help me with this
THINK: (support below) square. You may cut, fold or write Look at this problem?
Can you help me with this on the paper to help you. delicious Charles took  of the berries in the
problem? You can use a strip of Ahmed and Gemma each have bar of b O L
: . . : ox. Ruby fook = of the berries in
paper, or a real life object like a T a paper square of the same size. chocolate. 6
Problem/ chocolate bar to help you. — Ahmed cuts the square into 2 How many | fhe box. What fraction of the
activity of ‘' T equal parts and keeps 1 part. pieces are blemes ﬁleChorles and Ruby take
the day ' -'»§4 I Gemrlno CTUTS tgeksquor(]e |ntot4 i there 0£96T ere —
— - equal parts and keeps 1 part. altogether?
Remember, 15! | |1 EI Who keeps a bigger part, Ahmed ::: ::: :::
iust like in el or Gemma? Gemma takes 3 pieces. Ahmed
Just like % A . 49 9o <@
class, you How can we write 2 as tenths2 ’”I N takes 5 pieces. Who takes more? — — —
can still show | o many ofherwsoys can you 2|11 |5 Are there othgr ways for Ahmed . @@ L @@ L @@ L
the depth of | | sits it to get more pieces than Gemma® 9" 9w Sew
your SEE: (model below] ER] e Y9
E:ﬁ(w'edge g;gq%gf%ﬂﬁqggz:'s year3 Wo}c?%sgon ?/ig‘go here. Give the answer in its simplest
LINK SEE: (model below) > You? A — form.
Watch lesson video here., equivalent fraction to - using the
smallest numbers possible2” he Ahmed cuts his Gemma cuts her . SEE: (model below)
asked. “Find ’rtwe fraction in its e into 2 equel P inte 4 equel %o%sfeovézcs‘\ivye??hheoéSelfﬁém Watch lesson video here.
DO: Use what you have learnt simplest form!” The Year 3s were below
today to answer the questions not sure what to do next.... SEE: (model below) ’
below. Watch lesson video here. DO: Use what you have leant
SEE: (model below) - today to answer the questions
Watch lesson video here. DO: Use what you have learnt below.
tfoday to answer the questions
DO: Use what you have learnt below.
today to answer the questions
below.
mfs'hgg:s 2 Day 1 resources and answers Day 2 resources and answers Day 3 resources and answers Day 4 resources and answers Day 5 resources and answers
che'cks (below) (below) (below) (below) (below)

See below for resources to support you to THINK-SEE-DO
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https://uk.ixl.com/math/year-3/identify-unit-fractions-on-number-lines
https://uk.ixl.com/math/year-3/identify-unit-fractions-on-number-lines
https://uk.ixl.com/math/year-3/identify-fractions-on-number-lines
https://uk.ixl.com/math/year-3/identify-fractions-on-number-lines
https://uk.ixl.com/math/year-3/understand-fractions-fraction-bars
https://uk.ixl.com/math/year-3/understand-fractions-fraction-bars
https://uk.ixl.com/math/year-3/show-fractions-fraction-bars
https://uk.ixl.com/math/year-3/show-fractions-fraction-bars
https://uk.ixl.com/math/year-3/division-facts-for-2-5-10-true-or-false
https://uk.ixl.com/math/year-3/division-facts-for-2-5-10-true-or-false
https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/417546470/33ec45a471
https://vimeo.com/417571675/8b956b3cbe
https://vimeo.com/417202640/0caa55b328
https://vimeo.com/417234426/0e869afbf9
https://vimeo.com/418053312/1280e10df4

DAY 1 RESOURCES:

THINK: DO: Find the equivalent fractions and explain your answers.
a)
JLI I T e SN U N B 8
3 3 3 1. 4 4 4 4 1 .
2 3 6 4 8
How can we write E as tenthse How many other ways can you
write it ase 6)
You can use a strip of paper, or a real life object like a chocolate 11 1] 21 11 2 11111111111
bar to help you. s|s|{s|s|s| 1. 6|6|6|/6|6]s| 1 .
5 10 (5] 12
SEE:
See video

b)

The purple is % whilst the blue is 110 They are equivalent. I I I I

Rather than drawing them out, you can use the method

below to find equivalent fraction. Multiply the numerator and °
the denominator by the same amount to
x2 . . .
o find an equivalent fraction. 4
You could also write it as... - = —
Lt 5 15
5 10 2_4_8 _16
-~ A 5 10 20 4077 Deepening:
x2

1
Max says there are infinite ways of saying e Is he correct? Explain your

answer using sentences and diagrams.
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https://vimeo.com/417546470/33ec45a471

DAY 2 RESOURCES

THINK:
Whole 3
1 1
2 2
1 1 £=i
—d S —1
4 4 4

Mr Marlow challenged his year 3
class. “Can you write an equivalent

fraction to % using the smallest
numbers possible?2” he asked. “Find
the fraction in its simplest form!” The
Year 3s were not sure what to do
next....

6 6 6 6 6 6
1 1 1 1 1 1 1 1
3 8 g 8 8 F 8 8
1 |1 |12 1 1 1 1
70 | 70 {30 | 30 | 30 |70 |70 |30 | 10
1 |2 J2 [z |2 [2 T2 12701z [2 |2 [:
12 |12 |12 |72 |12 |12 |12 |32 |32 |12 | 712 | 72
EE: —
See video 8+4=2
+4
12 8 2
=2 12 K,
SN
LT T T ] 2
'5 4
I +2 12 +-4=3

| divided by 4 to find

E the simplest form
I because | had to

divide by 2 twice.

2 8
We say that 3 is the simplest form of e It is equivalent, and the

numerator and the denominator are both the smallest possible number.

DO: Write each fraction in its simplest form. Show your
working as shown in the example.

Simplifying Fractions

Examples:
' ™
1. =2 2. = =2
T T N T
i0 5 20 4 2
16 8 50 10 5
- y,
18 14 _
20 24 ~
3 _ a
30 40 ~
10 _ 2 _
45 6 -
5 _ 45
15 50 -

Deepening: Can a fraction be made simpler if its
numerator is 12 Explain your answer.
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https://vimeo.com/417571675/8b956b3cbe

DAY 3 RESOURCES

THINK:

With a piece of paper, cut it into a square. You may cut, fold or write on the paper to help you.

Ahmed and Gemma each have a paper square of the same size.

Ahmed cuts the square into 2 equal parts and keeps 1 part.

Gemma cuts the square into 4 equal parts and keeps 1 part. S -
Who keeps a bigger part, Ahmed or Gemma? Which is greater, - or -2

DO:

1. Shade in the amount of the fraction and write which
fraction is greater.

Which number Is greater?

1 1
! o ——
1
- e
4
Ahmed cuts his Gemma cuts her l iS greater ThOn l Which number s smaller?
square info 2 equal square info 4 equal 2 4
parts and keeps 1 parts and keeps 1 l I | | | | I |
part. part. 6
. 1
SEE: _ 1 T 1 [ ]
See support video 2 quarters is
greater than 1
varter. . .
1 - q 2. Compare the fractions using =, < or >.
4
1_ 2 1. 1
1 : 5= 7 507 is greater than : @ 1 1
2 : 2 10
1 1
Ahmed cuts his Gemma cuts her () 2 3
square into 2 equal square into 4 equal
parts. parts.
1 1
© — =
10 3
The parts Gemma So, % is less than a % 3. Explain why % is greater than % using diagrams to
gets are smaller. ‘ % is greater than i support your explanation.
Deepening: Maria says that g is greater than 1. Tom says they
are equal. Who is correct? Why?2 Explain your answer using
Ahmed’s piece Gemma'’s piece diagrams as well as words.



https://vimeo.com/417202640/0caa55b328

DAY 4 RESOURCES

THINK:

Look at this delicious bar of chocolate. How many pieces are there altogether?

Gemma takes 3 pieces.
Ahmed takes 5 pieces.
Who takes more?

Ahmed fo get more pieces
than Gemma?

5, 3
= is more than =
8 8

3, 5
—is less than =
8 8

Ahmed gets more pieces than
Gemma.

Are there other ways for— Gemma

We can show this information clearly
using a bar model.

Ahmed

3
B
5
8

When the denominators are the
same, we only need to compare
the numerators to see which
fraction is greater!

SEE

support video

S

7. 1
- is more than -
8 8

1, 7
=is less than =
8 8

[e-N RN}
\"
o1~
o1~
A
[e-N RN}

ED:D Both get g, therefore they get the

L4
same amount. Can you write 3 in

its simplest form?

6. 2
- is more than =
8 8

Are other ways for Ahmed to get Gemma 1 | | -----
more pieces than Gemma?2 What if 8
Ahmed gets 7 pieces? What would 7
the fraction be for Ahmed? What Ahmed E | |
about Gemma?
Gemma %
What if both Ahmed and Gemma 8
take 4 pieces each? Does Ahmed get Ahmed %
more than Gemma? 8
What if Ahmed gets 6 pieces? What Gemma 2 I | |
would that fraction be for Ahmed? 8
What about Gemma? Ahmed 6 | | I
8

2, 6
—is less than —
[ [ ] o 8

We can simplify this by dividing the
numerator and denominator by the
same number: 2.

We can also say: 3 [s more than i .

=

= |l
v
=

®lo
\"
® N
® N
A
®lo

1. Shade in the amount of the fraction and write which
fraction is greater.

Which number is greater?

4
st [ [T |
7
2 i I I O O
2. Compare the fractions using =, < or >.
@ 2 5
7 7
b 3
5 5
(c) 8 1
1 11
@ 2 z

3. Explain why g is greater than g using diagrams fo
support your explanation.
Deepening:
Create your own word problems for the THINK, e.g. Rebecca
and her friend shared a large sandwich. They cut it info é
equal pieces. Rebecca ate 1 piece and her friend ate 5
pieces. Who ate more? How much of the sandwich was left

overt Quality First Education Trust



https://vimeo.com/417234426/0e869afbf9
https://vimeo.com/417234426/0e869afbf9

DAY 5 RESOURCES:

THINK:

Can you help me with this problem?
Charles took < of the berries in the

box. Ruby Took% of the berries in the

box. What fraction of the berries did
Charles and Ruby take altogether?

Give the answer in its simplest form.

‘.QQ ¢ €
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Ruby took = of the berries in the box.

‘
«¢
B
eq

L]

*e
1 sixth + 3 sixths = 4 sixths

3 4
+ -=-
6 6

Charles and Ruby took % of the berries.

Charles took % of the berries in the box.

L 3

3 [
| | | [
—

—
?

1y2_2
6 6 6
|
2_2
6 3

1 3_2
S g TeTs

DO:

1. Add and fill in the blanks. Write each fraction in its simplest form.

Shade the bars to help you.

al
| |
E+l:
3 3
b)
i+3:
8 8

2. Add and write each fraction in its simplest form. You can always draw a bar
to help you.

Deepening: How do you know when a fraction can’t be simplified? Explain using
diagrams as well as words.
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https://vimeo.com/418053312/1280e10df4

Answers:

Day 1

W=

w N |- [

(S

Deepening:

Max is correct. As long as the numerator is
half of the denominator, the fraction

1
represents >

S

-
l\JlN

Nl o)

[y
N

[N
wui

18 _ 9
20 10
14 _ 7
24 12
3 1
30 10
4 _ 1
40 10
10 _ 2
45 9
2 _ 1
6 3
5 _1
15 3
45 _ 9
50 10

Deepening: No, if the numeratoris 1 then
the fraction is in its’ simplest form. That is
because 1 cannot be divided to find an
answer that is a whole number (unless you
divide it by 1 which means it stays the
same).

N

AN

2. a)>
b) >
c) <

1. 1
3. 30 greater than 5 because when a

whole is cut info three equal parts, each
part will be bigger than when it is cut into
seven equal parts.

You can see on the diagram that - is

greater than S

I I I |
LT [ T T T T ]

Deepening: Tom is correct. z is equal to 1
because the whole is split into three equal
parts, but 3 thirds means all three of them,
which is the same as one whole.

O

d) <

3. gis greater than % because in both
fractions, the whole is split into f'ive equal
parts (fifths), but in the fraction 2, we are
looking at three of those parts. In the
fraction g we are looking at only two of

those parts. Because each individual part

must be the same size as each other
because both fractions are fifths, 3 of
those parts must be greater than 2 of

those parts. | | |

I I I I I

b)2=2

2. a)==1
8 _2

o) ;=3
S
d)g:_

Deepening: You know a fraction is in ifs
simplest form and can't be simplified if
you cannot divide the numerator and the
denominator by the same number
equally. For example, in the fraction g,
both 6 and 8 can be divided by 2. 6 +2 =
3 and 8 +2 =4, so it can be simplified to
become z. You cannot divide 3 and 4 by
the same number equally, so this is the
fraction in its simplest form.
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